HW 2-2 Selected Answers Int 2

1. -300 feet per second. Not proportional, doesn’t hit the origin.

3. 33.33 dollars per hour. Not proportional, doesn’t hit the origin.
B.
:
9

8 miles per hour. Proportional, has a CROC and hits the origin.

. 3.50 dollars per hour. Proportional, CROC matches the ratios.

. 0 dollars per hour. Not proportional, CROC doesn’t match the ratios.

11. 0.15 dollars per text. Not proportional, CROC doesn’t match the ratios.

13. 5.50 dollars per hour. Not proportional, CROC doesn’t match the ratios

15. 4 miles per hour. Not proportional, CROC doesn’t match the ratios.




